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Chapter 6 - Linear equations

slope intercept form:

point slope form:

y = slope x + y-intercept

y - y-value of point = slope (x - x-value of point)

A
Note: change sign of the point
general form: Ax+By+C=0
| N —}— Hov VUX
Fmdmg the SIODe: 4 P l \ -Horizontal  Vertical
positive negative undefined zero -Qslope Undefined
-y= x=

- given

- two points are given
- graphis given

- parallel line is given

- perpendicular line is given

= Ya=Y
Slope= =,
rise
run

Slope=

Parallel lines = same slope

Perpendicular lines = opposite
sign and flips of each other

up/right = positive
down/left = negative

Graphing

Graphing an equation

- Mark a point

- Use the rise over run to mark a second point

- Draw a line through the points

Finding x-intercepts: let y=0, solve for x

Finding y-intercept: let x=0, solve fory

Finding

Change slope point form to slope-intercept form:

Y
Distribute theslope  y+ | = 3 (x-2)
Bring the number to the other side Y+l =3X-6
V
\I = 2X-6-|
\} = 3)( - ?—

Change from general form to slope intercept form
—4¥

/_/’—\\J
Get the term with y by itself by Ux + 3\/ |2 =0
]

moving other numbers over gy
3y = -4 +12
Divide to get y by itself %\/ = %‘ *%
V==X +Y
Change to general form
N Y
Distribute the slope (if necessary) VL= 2 ( X= I)
1 L
Ve = X 73
. 1 L
Multiply every term V+d = X — 3
-2

X
by the denominator G| el
X

Move everything to one side
x should be positive
x first, y second, number last = 0

the equation of alinein
slope intercept form

y =slope x + y-intercept

In order to write slope intercept form you need two things:

Finding the slope:

- given

- two points are given
- graph is given

- parallel line is given

- slope

-y-intercept
Slope= 232
Slope=—o

Parallel lines = same slope

Finding the y-intercept

- plug a given point (x,y) into

y = slope x + y-intercept
~

- plugin the slope
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The points {0, 1 ] (3, 2-), and (6, 3.). when graphed, lie an a line. What is the
equation of the line containing these poinis?

A, y=-3x+1 .

B. y=-1ix SR
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slope intercept form: y =slope x + y-intercept
|
3% + |

Chapter 6 - Linear ec
t slope intercept form : y
point slope form:
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2. What is the slope of this line?

- graphis given

Chapter 6 - Linear equations

slope interceptform: y=slope x+y-intercept

point slope form: ~ y - y-v

u

) point = slope (x - x-value of point)

Note: changesign of the Roint

general form: Ax+By+C=0
B (7 Wov wx
Finding the slope: ‘ Horzonal Yertcal
! exdefiet Qsope  Undefined
-given v
- two points are given Slope= L%
-graphis given Slope=—; 4“—»4
~parallelline is given e
-perpendicular lineisgiven o= Siatsaham
Graphing

Graphing an equation

Finding xintercepts: ot y=0, solve forx
Mark a point

) solvefory
Drawa e through the points



4. What is the slope of the lin¢ containing points A(-5, 2) and B(7 4)?

T

i - two points are given Slope=

X1 Vi Xz Y
A(-5, 2) and B(7.4)

-2 =2 _ L

7 — <_5) | 2 &

B
&
D

Chapter 6 - Linear equations

slope intercept form :

point slope form: y - y-value of point = slope (x - x-value of point;

c:change sgn of (ot
general form: Ax+By+C=0
Finding the s % A}* +
positive negative undefine
twopointsaregiven  Siope= 2=

Graphing an equation
Finding x-intercepts: let y=0, solve for x




5. What is the y-intercept of 3x + 6y — 12 = 07?7

A, 4 Finding y-intercept: let x=0, solve fory
B. 4 ir+6y—-12=10Q

—
. D M 6)’ -12=0

o

y =2

Note: change si



4

B Y =—§-x-3
e y=§x+3

. y=-§x+3

Get the term with y by itself by
moving other numbers over

Divide to get v by itself

. What 15 the egualion 1n slope-intercept form? 4x — 3y -9 = 0

4x =3y =-9=0

-3y =19

-3 -3 =R
Y

V= 3 X T3




7. What is the slope of line: y+ 2 = —{l—(x - 3)?

-2

B.

o

D.

3

4

/

y - y-value of point = slope (x - x-value of point)

Note: change sign of the point

point slope form:

\/\—j\

y - y-value of point = slope (x - x-value of point)

Note: change sign of the point

Chapter 6 - Linear equations
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8. What i3 the stope of a vertical line?
A, D

B. 1

C. -]

undefined
D. undefined

Chapter 6 - Linear equations




9. Wrle the following equalion in general form: ¥y==-3x+5
. W=~ dr =5
B. 3x+y4+5=1
L == ‘
IX+y—-5=0 é;;:\\\
D. 3x+y~5=0 y==3x+3

3>{+\/ -5 =0

Distribute the slope (if necessary)

Multiply every term
by the denominator

Move everything to one side
x should be positive 3
x first, y second, number last =0 T e i



i0. Writean equation for the line with slope 4 and y-inte

A, y=4x-10

B. y==10x -4
C. y==-d4x+ 10

D. v=10x+4

slope intercept form:

vy =slope x + y-intercept

slope 4 and y-intercept -19)

\/:L-l>< —’.JD

cept 107

Chapter 6 - Linear equations




L. Using the axes provided, graph the line having slope __g
and y-intercept -2. v

. 2 ' P m— AN 3
o ! .-: . ? U ae¢e o . —s--J._-
Graphing an equation simy Lot 8 3 ; '
. ’ « = -t s smmenmes sm- -t

- Mark a point . - s | e G - NS SN S
- Use the rise over run to mark a second point A I L - :

- Draw a line through the points A - .
s f— ——i

: N — L | 2 vy - 5
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2. a) Determine the slape of each line.

X1 Vi X2 Ya
i) a line that passes through A(-2, 7) and B(6, 3)
- two points are given Slope= 21
[2pt3] 2-31 -4 _1
6-(-2)y - © — &

ii) a line described by the equation 2¢ —y+ 11 =)

general form: Ax+By+C=0 y =slope x +y-intercept
Get the term with y by itself by de—y+11=0

moving other numbers over
[2pts] Sy = — 2% — 1]

.

—| — | — | SIQPQ = L
Divide to get y by itself N = LXK+ )

b} Are the lines in part a parallel, perpendicular, or neither? Justify yvour answer

]_

Slope :% perpendicular

K

Perpendicular lines = opposite
sign and flips of each other



3. The cootdinates of the vertices of AABC are A(L, 4), B(3, 1} and C{4, 6). [s AABC a right triangle?
Justily your angwer,

. . Perpendicular lines = opposite
-1 nght nang:e sign and flips of each other
AT N T -4 =3
A= ! Slope AR MLHBGL 31 = =2
I 6 -4 2
T S lope AC aLsyc@s -1 = =
e - | &

Slope BC BB C& | _, =

— 5 2 Perpendicular lines = opposite
2. = sign and flips of each other
., right triangle



4. Find the x and y intercepts of the following equation and draw the graph. 2x — Sy + 10 =0

Finding x-intercepts: let y=0, solve for x

'2‘1_%+

10=0 e
N o B .
2 +10=0 i s | g
2% = -0 i
[dpts] - ) IR
X =-&5 -

Finding y-intercept: let x=0, solve fory ) . i 1~T
-Sy+10=0 . iy

— S —S
V=2
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5, WriteTan equation for the line that passes through E(4, —3) and is parallel to the line

5
y+1= E (x — 4). Write the equation in zeneral form.

y - y-value of point = slope (x - x-value of point)
— N

Note: change sign of the point

5

E(4,-3) Slane =3

\/ +5:§7:(’<—Lu

é_/'Tﬂ
Distribute the slope (if necessary) \/ + 5= 77__ ( <~ LU
S =20
Multiply every term \/ + 5= = X - =3
by the denominator ;L -7 ) —7_ .3

/‘—)H
2oy ] = §x -0
Move everything to one side
x should be positive
x first, y second, number last =0

O___b—x—-la\/ -0 —<2|

O=5x-20y —hH|




6. Mr. Hann offers acting lessons to students at CBRH interested in musical theatre. At a recent parent
meeting he was promoting his business and provided the following data to the parenis,

Number of students (n) | Cost (C)

20 375
4

30 750

&
.

a) Write an equation to describe this relation. Write your equation in slope-intercept form.

[3pts]

b) How much money will Mr, Hann make if 35 students take his class?

(Tpt]

¢) How many students would need to register for his class if he were to make $11757



